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THM 243 Rooms Division Management

Midterm Exam Answer Sheet
1. Why shall hotels accommodate cost centers even though they wouldn’t generate revenue and only take from the budget to survive? (2 Points)
In hotels, cost centers are equally referred to as support centers, places that support revenue centers to generate more and more revenues. That’s why, hotels shall accommodate cost centers even though they generate no revenue at all.

2. What is the difference between a department and a division? What factors determine whether said responsibility area be organized as a department or as a division? (2 Points)

A division is a responsibility area including more than one department in it. Moreover, some factors that determine whether a responsibility area be organized under a division or department are as follows:

· Amount of employees working in that very responsibility area.
· Anticipated revenue for that very responsibility area.

· Level of complexity of activities / services rendered and tasks performed in that very responsibility area.

3. What is “Guest Delight”? Why shall hotels strive to achieve guest delight? Is this an easy task? Why? Why not? (4 Points)

Guest delight refers to the psychological nature felt by guests when hotel offers products / services exceeding their needs / wants. Hotels shall strive to create guest delight due to the fact that the latter engenders repeat business. Lastly, it is not easy to create guest delight for all guests due to the following reasons:

· Guests might come to the hotel with different levels of needs / wants. Therefore, a standardized product / service might create guest delight for some as it may result to only guest satisfaction or even guest dissatisfaction for others.

· Guests, on delight upon their first visit, when coming back (repeat guest) are now equipped with sophisticated needs depriving them from feeling guest delight if hotel is offering same products / services.

4. Why shall Front Office department and Accounting department maintain a good collaboration between them? What problems might be encountered when those 2 departments do not work in collaboration with each other? (2 Points)

Front office department and accounting department shall maintain a good collaboration with each other because of the following reason(s):

· Ensure correct and proper accounting for guest revenues.
· Satisfy guests especially when negotiating erroneous billings.

· Ensure the hotel with easy, smoother and faster collection of cash from departed guests who settled their accounts partially or fully with a method of payment other than cash.
Therefore, some problems encountered by the hotel when such a collaboration does not exist are as follows:

· Erroneous accounting.

· Dissatisfied guests.

· Late or even non-collection of cash from departed guests.

5. What is the main advantage of registration records over registration books? (1 Point)
The main advantage of registration records over registration books is that hotels can register more than one guest at a time using registration records. This certainly makes the registration process faster and rapid.

6. Loris Holiday Village agrees to allot Karius Travel Agency 15 Single, 35 Double & 5 Triple rooms for the period running from 12/11/2018 (Monday) till 23/12/2018 (Sunday) for each Thursday & Friday arrivals for 3 nights. According to the allotment contract signed between both parties, Karius Travel Agency has to send its final list latest 5 days before actual arrival of any group.
a) When is the fourth group estimated to arrive at Loris Holiday Village? (1 Point)

The fourth group is estimated at arrive at Loris Holiday Village on Friday 23/11/2018.
b) When is the cut-off date of the fourth group? (1 Point)

The cut-off date of the fourth group is on Sunday 18/11/2018.
c) Suppose, by the cut-off date of the fourth group, Karius Travel Agency communicated a Final List showing a need of 12 Single, 29 Double & 3 Triple rooms. How many rooms are washed out? (1 Point) Calculate the Wash Out Factor Percentage. (Round your answer to the nearest cent) (1 Point)
· Initial allotment = 15 + 35 + 5 = 55 rooms.

· Number of rooms requested (Final List) = 12 + 29 + 3 = 44 rooms.

· Washed out rooms = 55 – 44 = 11 rooms.
· Wash out factor = (11 / 55) * 100 = 20.00 %.
7. What pieces of information, on the registration record, determines the POS status of the guest? Provide an illustrative example. (3 Points)

Pieces of information, on the registration record, that determine the POS status of the guest are:
· Intended method of payment

· Signature

To illustrate, if on the registration record, the intended method of payment is “Cash In Advance”, this shows that guest has no POS Status (i.e. P.I.A guest) and, hence, shall pay as he / she consumes at any point of sales. On the other hand, if the intended method of payment is anything else (i.e. Cash, Credit Card, Personal Check, Special Programs, Direct Billing or any combination of those), guest is said to be a guest with POS Status (guest with guest charge privileges), someone who could consume and postpone his / her payment later on (up to the floor limit) till departure.

8. How can usage of room determine that very room price? (1 Point)

If the guest uses the room only for the day, he / she will be charged on day usage and will end up paying less for the room compared to a guest who would use the same room for the night.

9. Contrast “Sleeper” and “Due out” rooms?  (2 Points)

While “Sleeper” room is a room status for which a guest has settled his / her account and left the hotel (yet the front office staff has failed to properly update the room’s status), “Due out” room is a room status referring to a room that is expected to become vacant after the following day’s checkout time.
10. At Giroud Hotel, Olivier has accumulated, just before checkout, the following details in his guest folio:
- Room Charges


$ 3,226.05
- Food Charges


$ 1,081.07
- Beverage Charges


$ 658.28
- Telephone Charges


$ 135.48
- Extra Charges


$ 23.52
- Payment (During Stay)

$ 475.00
- Guaranteed Reservation Payment 
$ 1,025.00
Upon thorough analysis of his expenditures, Olivier objected the high beverage consumption. Giroud Hotel’s cashier checked again the beverage vouchers and found that Olivier was 40 % overbilled (this error was due 2 days ago). He apologized for the matter, corrected the posting error and presented the folio to Olivier for signature.

a) What supporting document is needed to prove the correction of the posting error? How much (in US Dollars) should this very document include? What is the effect (i.e. Debit or Credit) on the folio’s net outstanding Balance? (2 Points)
Since the posting error is detected and corrected after the closing of the business day, an allowance voucher is needed to prove the correction of the posting error. Moreover, the amount of allowance voucher shall be $ 263.312 (i.e. 40 % * 658.28). Lastly, the effect is a credit (i.e. decrease) on the folio’s net outstanding balance.
Suppose that Olivier decided to settle his guest folio, 30 % by cash, 15 % by Personal Check, and the remaining by Credit Card.
b) What is Olivier’s Net Outstanding Balance? (1 Point)

· Net Outstanding Balance = Total Charges – Total Payments = (3,226.05 + 1,081.07 + 394.968 + 135.48 + 23.52) – (475.00 + 1,025.00) = 4,861.088 – 1,500.00 = $ 3,361.088.
c) Journalize the zeroing of the guest folio. (2 Points)

       Dr

       Cr.

-------------------------------------------------------------------------------------------------------------


Cash




$ 1,008.33


Personal Check Payment Account
$ 504.16

Credit Card Payment Account
$ 1,848.60





Guest Account

$ 3,361.09
-------------------------------------------------------------------------------------------------------------
d) What are the supporting documents needed as to close properly Olivier’s folio? (1 Point)

· Cash Voucher with an amount of $ 1,008.33.
· Personal Check Voucher with an amount of $ 504.16.

· Credit Card Voucher with an amount of $ 1,848.60.
· An invoice with an amount of $ 3,361.09.

11. Ronaldo Hotel consists of 300 rooms. Mr. Cristiano has been newly hired for the position of an Assistant Reservation Manager. One of his responsibilities is to calculate how many rooms the hotel shall be overbooked. In this regard, Cristiano wanted calculate how many rooms Ronaldo Hotel needed to overbook for the night of November 28th 2018. 

Mr. Cristiano was given the following information at hand, both updated and concerning the night of November 28th, 2018: 
· Number of rooms reserved: 


210 rooms

· Number of rooms occupied by stayovers:
50 rooms

· Forecasted No-show Percentage:

8 %

· Forecasted Understay Percentage:
 
5 %

· Forecasted Overstay Percentage:
 
3 %

· Forecasted Cancellation Percentage: 

6 %

· Expected Out Of Order Rooms:

4 rooms
Suppose you are the Rooms Division Manager in Ronaldo Hotel. Since Mr. Cristiano is newly hired, he knocked your door and wanted your assistance. Could you help Mr. Cristiano to come up with:
a) The maximum number of rooms (including overbooked rooms) that can be reserved for that very night? (4 Points)

· Total number of rooms expected to be occupied for the night of November 28th, 2018 = 210 + 50 = 260 Rooms
· Adjustment due to no-shows  = - 8 % * 210 = - 16.80 Rooms
· Adjustment due to understays  = - 5 % * 50 = - 2.50 Rooms
· Adjustment due to overstays  = 3 % * 50 = + 1.50 Rooms
· Adjustment due to cancellation  = - 6 % * 210 = - 12.60 Rooms
· Total adjustment = - 16.80 – 2.50 + 1.50 – 12.60 = - 30.40 Rooms
· Total number of rooms expected to be occupied for the night of November 28th, 2018 (after adjustment) = 260 – 30.40 = 229.60 Rooms
· Total number of rooms available for sale for the night of November 28th, 2018 = 300 - 4 = 296 Rooms
· Maximum number of rooms to be additionally reserved for the night of November 28th, 2018 = 296 – 229.60 = 66.40 Rooms
· Total number of rooms expected to be reserved and occupied for the night of November 28th, 2018 = 260 + 66.40 = 326.40 Rooms.
b) The number of overbooked rooms? (1 Point)

· Total Number of overbooked rooms = 260 + 66.40 – 296 = 30.40 Rooms.
c) The overbooking factor? (1 Point)

· Forecasted Occupancy Percentage = 326.40 / (300 – 4) * 100 = 110.27 %
· Overbooking Factor = 110.27 % - 100 % = 10.27 %.
N.B: Answers to a), b) & c) parts shall be rounded to the nearest cent.

GOOD LUCK!
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